24
1)
(2) 13 21 1 BMSno.
12 10 1.1 1 1 2
(3) 30 501U/dI 3 2
301uU/dl 12 10 2
2 1 3
2
4) 3 6 3
(5) 7 12
DCP15 3
Q) 12 100 1201U/dl 801uU/dl
2kg/
B- 1 1u/
(2) 13 21 30 501U/dl
8o1u/dl
70001U/
301uU/dl 3000 50001U/
(3) 22 24
80 1001u/dl 5000 100001U/dl
(4 4 5 6
1)
(2)
(248)
1) ()
(2) A 67 22-28 1999
(3) 569, 30-33,2002
(4) 2000
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800
el n=12) s 100
600 —-O— (n=12) =) W)
= 80
£ < . (/5
400 60 - (1)
—O— =
20 - (n=12)
200
20
B S
. 0 ‘ ‘ ‘
6 8 10 12 14 16 18 20 22 24 6 8 10 12 14 16 18 20 22 24
(n=12) (n=12) (n=12) (n=12)
(7-12 ) 1.01+ 011 1.02+ 0.11 NS 3836+ 40.1 4151+ 38.9 o
(13-21 ) 0.71+ 0.14 0.89% 0.14 *k (%) 60.6+ 2.0 60.9+ 2.2 NS
(22-24 ) 0.76+ 0.21 0.69+ 0.25 NS (cm2) 479+ 6.3 488+ 7.9 NS
(7-24 ) 0.82% 011 0.91+ 0.09 ok (cm) 70+ 0.8 74+ 13 NS
NS % 10 (cm) 2.3+ 0.7 24+ 0.7 NS
73.4% 1.6 73.3% 1.7 NS
BMSno. 56+ 2.7 45+ 2.6 *k
34+ 1.0 30+ 1.1 *k
NS ** 10
800 120
100 N
600 [ |—m— (n=7) =) Q,Q
—o— (n=7) § 80
= 400 < 60 [ |—= (n=7)
-0 (n=7)
40 ~O
200 o§
20
0 0
6 8 10 12 14 16 18 20 22 24 6 8 10 12 14 16 18 20 22 24
(n=7) (n=7) (1U/kg)
4047+ 46.6 397.4 + 50.9 NS 60000
(%) 60.5+ 1.5 60.3 =+ 1.8 NS 31600
(cm2) 514+ 61 514 =+ 68 NS 6400
(cm) 69+ 1.0 68 =+ 1.1 NS 12000
(cm) 23+ 05 21 =+ 06 NS 8000
735+ 1.0 737 =+ 0.8 NS 2000
BMSno. 8.0+ 05 81 =+ 1.4 NS
46+ 05 46 + 05 NS
NS (4)
(k) 1/
200 8480
400 16960
600 25440
3)
(1u/dr) 1/
(7-12 ) 100 120 10000
(13-21 ) 30 50 0 5000 301U/dl 3 5
(22-24 ) 80 100 5000 10000
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